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Computers use binary numbers to represent all the data stored on a computer.  Some early computers had 24 bit words.  Programmers got tired of entering each bit using bit switches and wanted a better and less error prone way of entering data.  
Some converted the 24 bit binary number into an 8 digit octal number by grouping each set of 3 bits and converting the value of those three bits into octal.

001 011 111 000 010 101 100 1102
 1      3      7    0     2     5     4     6 = 137025468
Some converted the 24 bit binary number into a 6 digit hexadecimal number by grouping each set of 4 bits and converting the value of those four bits into hexadecimal.

0010 1111 1000 0101 0110  01102
  2       F        8       5      6         6 = 2F856616
You can easily convert an octal number or hexadecimal number into binary by expanding each digit to the binary value in three digits.

238 = 0100112
2F16 = 001011112
